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6 99 94 R 3 Wi, s i vrr-w § i @ s T — 5 = 3 7= =
ou are to amtempt hoth the sections.

The question paper€omprises of two Sections, A and B.

oty avrard ¥l
All questions are compulsory.

e W= 3R wr-a ¥ o pELE IR g - geR T T
e amempe=d separately

e B
T =

All questions of Section-A anddll questions of Section-B a:
Question numbers 1 to 3 in Section-A af¢ one mark guestors  [hese are to be answered mn
one word or in one sentence.

NTT-31 % YA WEm 4 A7 ¥y Q- A 5wl & B g g e o et EE
Question numbers 4 to 7 in Sections-A are two markyuoshors These ane & he answered in

about 30 words each.
ﬂm—a&'mﬁmsﬁwtma&w #a atwt B B, gen
Question numbers 8 to 19 in Section-A are three marks guess® oy
in about 50 words each.
qI-31 ¥ T e 20 ¥ 24 F WA qhw- v ot & ) g o e » et F 2
Question numbers 20 to 24 in Section-A are five marks questioms  These are to be answered
in about 70 words each.
m-ttmﬁm%ﬁu%muﬁmmaﬂﬁwmﬁ’@w?ﬂ:f =% 7= & -TF NF
@k mwmwaammummw?a

Question numbers 25 to 42 in Section-B are multiple chois guesoons based on prachcal
skills. Each questionis a one mark question. You are to select one = appropnate response

<t appr
out of the four provided to you.

- e wedt = 2
Sese are to be answered

o -
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WIM-31 ~ SECTION-A

1 ft & 9 vwmEm pewrg &= @ faw gl
Draw a diagram to show uniform magnetic field m a grven region.

2 wfiaer 1 waQ 78 3R W@ WM IR | R?
Which is the largest and most prominent part of the bramn 7

3 AT’ FHT B T A FTen H[i 3= o S 22
Why is a solar cooker painted black from outside ?

4 A | 9 R | w2 A o wiva T ameeE

Briefly explain two ways'to prevent rusting of ron.

5 M@ﬁmw@m%mw,mﬁ%mﬁﬁmgp
Write symbols of cation and anion pgfsend m MgO  Why do womc compounds have
higher melting points?

6 ﬁ!gﬂ‘lﬁq!ﬁﬂﬂW’qmﬁﬁmrqrﬂﬂum oo & b sqrem wifad f g fem
yaR wfiad] w1 g wa ¢? 1A g & a &8 wafuwyffem g b
Which common application of Joule's heating i wmed o ssinn guts 1o protect it ? Explain
how it protects the circuits ? How it 1s connexted with the devgh °

7 @ g, R fkan faram, o mvj_{ Wt o Q% i alets W vand wifag
[s N [s N |

P Q B
(b) 4 ¥ Free e & sl #) e & e e oo b

(a) Two magnets are lying side by side as shown below

Draw magneticfield line

betweenpoles P and Q.
[s N| [s N
P Q

(b)  What does the degree of closeness of magnenc field lines near the poles signify?

Frferfa @ HCI & e Sfvfied & wgfes 7eai=% == %77 T au
G) Zn¥q

p20f15
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(i)  NaxCOn

(i)  NaOH
Write balanced chemical equations for the reaction of dil HCI with :
() Zn metal
(i)  NaQOy
(i) NaOH
9 Fre sxfufrartl & it ) gof aar wgfera i . 3

(i) NaCl+NHs+ H:O+CO: —

(i) Na;CO» + H:O —

(i) NaHCOs+HaSO, —

Complete and balance the following reactions :
()  NaQl+NHs+HIO#Coro

(i) NaCOy+HO—

(i) NaHQOs+H:SO, —

10 “fagrer sfvfra wgrem sfvufea & fawis @9 &' 9% & fag Iugea wee g 38 &9 3
%! yfe Fifag)

“Combination reaction is the reverse of devompusiongvacton”
the help of appropriate chemical equation for each

Justify this statement with

11 frefafad wa ¥ v 3 U sfvufea fufau
@) wgd I v &
(i) €O iy sitwans §1
() gl 3 F A wegrer A &)
Give one reaction in favour of the following statements :
(i)  “Metals are good reducing agents.”
(i) “COrisanacidic oxide.’

(iii) ‘Metals evolve hydrogen with acid

ge30f15
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12 a@ﬁzﬁ.mmmmvt.wmmﬁammﬁmaﬁmwm 3

g 40 ) FHd frm @
Find the number of electrons transferred between two points kept at a potential difference of
20V if 40 | of work is done ?

13 mWﬁWWWWWW%?mme.Vlda-Wmmmﬁm 3

FER T 1200 W F1 22 (T 3 fgd F 1 € Wi & g1 S R)

Calculate which one uses more energy a 250 W T.V set in 1 hr. or a 1200 W toaster in 10
minutes. (Both are connected to same source of electricity)

U (@ TEEW S R E Y- I T W@ Y )58 e @ s e fee 23

e |
b Tow F A fag A ML F ma fawar 15 v @1 T AB H wEfed =

1A %) 4R vafead €3 W 2 A% fem ma w5 ofiwfera Fife |

(a) V-1 graph for nichrome wire is a straight line  Explain the inference of this statement.
(b)  Potential difference between two poings A and B of a conductor is 15 V. Current
flowing through the conductor AB is 3A"Calatilate the work done when the current

flows for 2 sec.

15 wwtyEl aw foosdl F @7 s afew § qaeg #ifao,
List in tabular form three differences between artenies and veins

16 (a) frefefaa yer ®) &0 F Il gro wgw wize et ) eeata 3
@) e F smvm F B favreE
@) whge Wt d gfe w1 wam
®) ‘g{gé'mﬁﬁﬂﬁmmvﬂmﬁmnﬁﬁﬂ =R [rvitag Hifaw)
(a) Identify the phytohormone used by plants while performing the following
functions :
(i) Cell division in shoot tip.
(i)  Inhibiting growth on approach of unfavourable conditions.
List in tabular form two differences between the movement in ‘touch
me not plant and movement of shoot towards light.

(b)
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ad (@) HHE % B0 I9A IR YR F IumEdt a4 el ¥ A fafau ) 3
(b) gFF F Ffafa K 3= WHT I T4 % W @y

@ Name four types of metabolic wastes produced by humans.

(b)  Name any two human excretory organs other than kidney.

18 i wrw fafigd e SR @ O IWE 6 TH S € 3

List any three reasonsane to which biogas is considered an excellent fuel.

19 % T T T A A O e ¥ TE e W B e e e @1 3w 3
3 v A i H v % fog I @ Poln A e & A Jar S § it S S
Safeafi Tt T 3 TR TLAHYE S a9 F S H 6 yuifad Hof | T IR @ F
o & s s 2o s X
(@ @M % g Wi e fitedl
(b) el 6 W F T qedl pa R A ¥ fedl B e v

Ramu has a piece of agricultural lag in a village. He decides to set up a brick factory on it.
His friend Shyam persuades himito change his decision n the interest of village because
presence of a factory would severdly affectghe health of villagers as well as agricultural
produce of others. Ramu understands and abagsdons his plans.

(@)  Mention the values exhibited by shfam. ©

(b) Explain how these values helped shyamg@ save interests of his village

20 < ferdl A, B3 C ® pH #A7:0,3,6 F1 PN sa frer @ et AR 0 S
(a) wR st gen { H* 5w ¥

(b) o 9 e ¥ H* @A §)

(9 &ftor svtta

(d) m'mﬁmwmmmmmﬁmwwmwA@
&G S WA y &

(e) A1 Fereraetl Y ST % AGQ H F ateda Hr

g WeE I 1 HRoL Hea FT
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as follows 0, 3and 6. identify the solution: ’

Three solutions A, B and C have pH
(a) having highest number of H’
() having least number of H’

()  weakly addic P
sodium hydroxide #nd ammonium hy
hen added in excess.

droxide, which can change the nature of

@)  Outof
solution A to basic W
/(t‘) Arrange the three solutjém {h increasing order of acidity.

1 s @2 faﬁmﬂﬂwﬁumﬂﬂcamﬁﬁ@%mﬁhaqwﬁaamﬁmﬁﬁ 5
ama WWﬂWW&Tﬁm aﬁ%ﬁdﬂaﬁﬁw%am@ﬁ%@
L1 od o
What is corrosion? With the help of an actifity show that ru
presence of air and moisture. Draw labelled diagram of the ap
whichrustingofimncznbepvrﬂ'ented.

wmwmwmhmmmm. . kA

mmmwmﬁmmv mﬁm&mmwa"iwfaqﬁﬁﬂﬁ%

Sqdm & wra g 7 iamqﬂumWHq«ﬁa £ v & gf A 50 wEQ X2
field lines through and aroumd a current carrying solenoid.
the solenaad’indicate » State how this field be

What does the magnetic field pattern inside
two ways by which strumgth of this electromagnet can

sting of iron takes place in the
paratus used. List two ways by

2 @mﬂqﬁmﬁm#

3 (a) mwmwammwmmsuumam._.maq'._a 5
(i) i afv fost I
(ii) mﬁﬂﬁvﬂmmmtmﬂm‘rﬂﬂn‘mﬂ g sgafi vifsal ®
S Fa B _'
) lk“'hmﬂtSlWﬁmmﬁﬂmi
h of resistance 10 ohm are connected ©

(a) Two identical resistors €ac
) inseries
@ m el, in turn to a battery of 6V. Calcu
the combination of resistors in the two cases.
Establish the relationship between 1kWh and SI unit of energy-

late the ratio of power consumed n

(®)

wun

(a) qnawmvhﬂfmm mmmm-mﬁ_m,w.

pof 15
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by frafafas F s dfag-
() A da Ay F dafre s g
(i)  EER ¥ e H W@ o 2
(a) Draw a diagram of human respiratory system and label:
. Trachea, Bronchi and Diaphragm.

(b) Give féasons for the following:
(i) Lungs always contain residual volume.

(ii)\, . Nosfrils are lined with mucus.

WrT-d/ SECTION - B

25 mq@amﬁwﬁpﬂﬂﬂmmtﬂwﬁﬂamtﬁmprnaréwpﬂztt 1
(@) Q&IEE I b) Gifeaw eglears faem
() EEEEE I (d) 5, &
Identify the sample, if its gdlour jon pH paper matches with pH 2 in
pH- colour chart. _
(a) ethanoic acid (b). sodiuin hydroxide solution
()  hydrochloric acd (d)  wates

26 ﬁqﬁmﬂﬂﬂﬁnﬂfzﬂﬂ%wpﬁmwﬁtmmﬁqumﬁﬁ?-

(@) ften feremm ®) == feaw
© wwt g e d) Qe |

Suggest the solution which you would choose for testing pHGE giyefi Sample :
(a)  Blue litmus (b)  Red litmus N

(©) Universal indicator solution (d)  Lime water

27 @ e x R w o wA WX T & ufes st -y- ¥ fadifoa @ s &1 1
. a6 A sfas sk 7 €y | et
@ ¥ e e ®) wfem weke e
(@  HRTER ) Sfw sndanwE
A substance ‘X’ is green in colour. On heating ‘X’ decomposes into a brown coloured metal
oxide “Y" along with two non - metallic oxides. Identify “Y".
(a) Ferrous sulphate crystals  (b) Sodium sulphate
()  Copper sulphate (d)  Ferric oxide

et m,msfﬂw‘ﬁmilmm%ﬁﬂzanﬂmt@ﬂlm sguEAFEAM 1

28
ﬁwmmmmmmaﬁa‘hmﬁmrﬁt | Rz g s ¥ 3w 2fE

ge?OflS
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3R ey 1 A 39 7 @ R

s

®)

(2)

©
Anita, Raj, Radha and Rashmi were heatin
three of them. She said only Radhéi was doing |
and mention which was Radha’§'set ups™

g ferrous sulphate crystals. The teacher stopped
t correctly. Observe the set ups given above

Cuso.%ﬂremsmmiuﬁﬁﬂlﬂm M’m«wm $T & we @l X A A R 1

29
frard fd : .
(i) i e farer w1 1w & e A
(i) mmtﬁmmhmhm‘y
(iid) mmtmmmmmam
(iv) mmtmmmmqsam«ﬂwmmg{mm
il A wd dam </
@ @@ ® O @ @ @ )
After performing the displacement reaction using CuSO4 solution and Iron nails the students
recorded their observation as follows :
(i) copper sulphate solution changes to green from blue
(i)  colourof the copper sulphate solution does not change
(iii)  blue colour of copper sulphate disappears
(iv) blue colour of copper sulphate first disappears and then reappears
The correct observation from the above is:

page 8 of 15
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@@ (i) ®d B (© (i) (d)  (iv)

30 AR, fa¥ A, B, C, D A Tt fra ma &, F w% wma 1 feraa A fegrm @ @) @ @

AR R FRAR L
A B C D
J L | | ] L
oA FHet-wed -y ot & v
@ A (b) B © C d D
Four plates labelled as A, B, C and D along with their corresponding colours are given below.
Which of these would represent the copper metal ?
A B C D
R |
Grey | Blackish Reddish Silvery
: grey brown white
(a) A (b) B (<) & (d) D

31 feorearqa Sffira #R gy X Fre fao 62
() O Y
@ fooa = e @ gl
T4 g0 wAm fed g Afvesis R vl €.
(@) e R fiw wede = faed
®) fow sk s ve%z w1 faeraq
(@ a3k & wedz w faead
d)  IEE i ww T W fa
On carrying out a displacement reaction, the fyllowihg observations were made by Nandita.
(i) Formation of Reddish - brown deposit
(i) Solution turned green.
The reactants she used were :
(@)  Copper and zinc sulphate solution

(b)  zinc and copper sulphate solution
()  copper and ferrous sulphate solution

(d)  Iron and copper sulphate solution

qﬁ!ﬁ?@ﬂ%(ﬁsﬂéz)aﬁﬁﬂﬂuﬁwﬁmﬁmmt—
(b) g WReR & fed

IR o | F T

32
(a) yr1 73R &

(©) g fEfia $3 & el | (d
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.
+ =y, R

The rhevsar = wwd = e
{ jon fmw the current

f¥
. ) )
o) OaTease e CxyveTs

14, i oA these

< Can change S Pt et

!&ﬁww:;-&-iﬁdﬂvwﬁmmm'm—-

@) wmE= T ny w WAk

) = el 1 14 s @ A né A TR T R
<! .
If the 2 ooz with corwtant yollage ICTeases, the current will -

W) decrease

(d) ot enough information

ﬁﬂﬁdiéwmw» evta o B 7

(@ !

® I
© O
d v
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circuits the correct ammeter reading is shown in :
P

Out of the following
—()—
—aem e
"{u ‘{-u
‘T veiov *T vy=tov
.'Ir.—-—l——"' A4
P—q: )._' n——q :>—__-.-
R =0 : R=5
.%u :] 1 1=2A
Al 4V, B e
m | | v
@ I ®)y A (0 M @ N
s e vhon 7 A WA A s R A i # W fea T A T AR TE 1
mﬁ*ﬁut:
@ e )| fagrem
© fomm d) | IS A W e
When in a circuit two or more than two resistors ...m- dbnnected in series, the quantity that
remains same in them is : : .
(a) Resistance (b)  Current

(c) Potential difference (d) None of these

gﬂiﬁn’maﬂmﬁ%fmwmﬁmﬂm 1

36 ot § wafag @ wfedual R,a9 Ry
¥ o e Frad w@ A€ s R AW

ofrqe ¥z 3 fan waim 3, it # et e
a1 &, TR 4

ge 110f 15
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37

B i ¥, P TE QF I T HA A
W%,m@xwﬁmshzﬁm
W#,waﬂqﬁgam%mTqéP%mwman
Qﬁaﬁ,wsﬁpqﬁo%mmsh@m

indi i i f a series combination of

ircui finding the equivalent resistance of _
5 stuc.:lent set§stuop hI:r ac::;ul;:’ iff tﬁ:\ manix;'ler as shown in figure. She‘dld not obtain thzcctt;ge;:
M?ﬂwe?\ exper:mlent because of a mistake in her circuit. The mistake can be corr )
result in her

shifting the :

(a)
(b)
()
(d)

B ' )
() voltmeter and connecting it :mu I I:n:lmt.i) 1
amme onnecting it between . |
i lmu::;ra:.r‘\idccmmu:g it across T and P with corret pelanty
g:i)) vc;mmcterandmnmung it access P and Q

®) {E
@ @O

() VR EE S

Role of part (a) in plantis:
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(b) Protection

)

(a Gas exchange

()  Photosynthesis (d)  Both(a)and (b)

38 yAw wgea s IR A —
(b) 3-W ag FE °

(a) WAL _

© aaﬁsﬂaﬁsﬁ _ @ T

Each stoma opens into asmall, 7

(a)  Veside 04 (b)  Sub-stomatal air chamber

d) Haustorium

(c) Chamber filled with waﬁ

tzamzﬁfuﬁawﬁﬂw.v&, faa® U WM FE A I TF @G 1
st e SN fom . @ v 9@ @ F -

39  goigha fada 0 ¥ A% W,
s 3 o T gl & v J T T &, 6
(a) it it Ared-weh @
(b) T &1 e TH W e wren o
(© far T 1 fren-wen @ A
(d) wﬁﬁmﬁwﬂmmwwmhmm-

After removing chlorophyll, when iodine test is performes

leaf which was partly covered with black paper and kept sughght tor
observations would be : .

(a) entire leaf turns blue-black

()  Thecovered part of the leaf only turns blue-black

()  The partnot covered turns blue-black

(d)  Nochangein color is observed as chlorophyll is removed.

| m"l.ht‘_q.h\Urxl\t\i \‘\}\*nnwnml
six_hours, the

%,mmtmwmmmﬁmﬁ 1

ey gy ¥iwa & fa yem SEvas

ofea # ST ® W@ A I A T T
waﬂﬂ‘f"

2130f15
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d) Wi ® g F yam F @

A teacher was explaining the procedure to the students for proving lLight is essential for
photosynthesis. One of the step was stated to be destarching the plant The word
‘destarching’ means :-

(a)  Removing chlorophyll from the plants cells.

(b) Removing starch from the plant cells.

(c) Re-synthesizing starch in plant cells.

(d)  Allowing plant to stay in sunlight

41 YA ¥ A CO, 3eafa it &, TRt F wam F Frhr el 1 6 11 =feq —
(@) V-3FR (b) U-3&N
() S-3mp @ d) Z-3IEHR

The delivery tube tsed in the experiment to show that CO; is given out during respiration

should be: \ _
(@) V-Shaped |/ ,0)  U-Shaped
() S-Shaped ¢ Fd)  Z-Shaped

0 v & & CO, i it & 2wl & im0 @ ferd ) €, A iR 0 @R € i 1

G ——

b) A 8 dr g e @ swn o} v w oL
(€  3iFRa 8 ¥ vrwa w7 € aw O, swfiy wad €
d) digha 0 fw e @ § awm Co, swfita wra £

In the experimental to show that CO, is given out during respiration, the seeds that are taken
are germinating seeds because :

(a) germinating seeds show photosynthesis
ih) germinating seeds are big and softer than drv seeds
(<) gernunating seeds respire and release O,

(d) germunating seeds respire and release CO,
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